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1 = goo E 500,000
2 = goo E 250,000
3 ("] goo E 160,000
4 = goo E 100,000
T5 = ooo E 75,000
T5 = ooo E 75,000
T5 = ooo E 75,000
T5 = ooo E 75,000
T5 = ooo E 75,000
T10 = goo E 60,500
T10 = goo E 60,500
T12 = ooo E 55,000
T12 = ooo E 55,000
14 = goo E 52,000
T15 = ooo E 49,000
T15 = ooogs2 E 49,000
T15 ("] oo E 49,000
T18 = ooo E 45,875
T18 = ooo E 45,875
T18 = ooo E 45,875
T18 ("] oo E 45,875
T22 = goo E 43,000
T22 = goo E 43,000
T22 = goo E 43,000
T25 = ooo E 40,000
T25 = ooo E 40,000
T25 = ooo E 40,000
T28 = ooo E 37,500
T28 = ooo E 37,500
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33,500
33,500
33,500
33,500
33,500
33,500
27,500
27,500
27,500
27,500
27,500
27,500
23,750
23,750
23,750
23,750
22,250
22,250
20,833
20,833
20,833
9,954
9,954
9,954
9,954
9,954
9,954
9,954
9,954
9,954

9,954

2/3



ggd

T51

goo

9,954
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